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2. Find the mean of first 5 multiples of 4.
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| Age(nyears) | |5 16 17 18 19
Ne. of students | 4 8 s | 3 ]
Find the mean age.
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4. Find the median of first 20 whole numbers.
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5. Find the median of the following data :
18, 10, 5, 3, 16, 4, 6, 15, 8, 12, 6
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,l EXERCISE 17.1

1. Wnrwlm'ﬂmﬁu:mmudvmw
26.7, 287, 30, 259, 272, 0.2, 298, 27, 323, 1284,
29.6, 265, 24.7, 268, 315, 278, 293, 245 29, 9.2,
34, 283, 298, 306, 325 33 2, 08, 254, 275 269

Mhhhmw&iﬂﬂhﬂmm”uduﬂdﬂlmﬂm
class-intervals being 30 - 32.
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2. A group of 50 students was writing a tesl paper in an examination hall, Maximum time allotted

as :

140, 128, 130, 145,
110, 138, 136, 146,
132, 135, 100, 105,
123, 142, 110, 125,
143 | 124, 115, 133,

150, 120,
125, 135,
128, 108,
138, 128,
143, 134,

135,
142,
124,
138,
148,

125, 120,
145, 118,
140, 145,
110, 120,
104, 118,

.hhunllﬁul-% hnnﬂmllhﬂbyhnhmlw#mmmﬂ{hnﬂmﬂu}

115,
112,
150, -
130,
139,

Express the time taken by the examinees to solve the paper in the form of frequency distribution
table in intervals like 100105, and answer the following questions : '

) Hmmmmmnmmzé hours 7

(ii) Hnwmnnynfﬂmncnuldﬁniﬂnh:plperinkul]unlhum? _
(iii) Find the number of students who finished the paper during last 10 minutes?
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3. 20 players started running a race along a track of 400 m. Time taken by each lo reach the final
point is given below in minutes. Construct a frequency distribution table showing number of
players renching the final target point during every interval of one minute after the first player

touching the target, i.e, between 4-5 minutes, 5-6 minutes, 7-8 minutes, .......... In how many

intervals the data will be divided?

10 min, B min 56 sec, 8 min 30 sec, 9 min 10 sec, 9 min 50 sec,

8 min 50 sec, 9 min 20 sec, 10 min 10 sec, 10 min 15 sec, 6 min 50 sec,

5 min, 4 min, 5 min 30 sec, 4 min 50 sec, 7 min 10 sec,

7 min 30 sec, Bmin 10 sec, 6 min 20 sec, 4 min 10 sec, 4 min § sec,
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4, awnmlmmmmmw-nlmwmmmur

questions attempted by them were :

RS, 58, 76, 65, 9, T2, T B3, 55, 48,
84, 67, 56, s9, 47, 66, 68, 74, 56, 65,
45, n3, 9% 74, 62, BS, 49, 6], 56, B2

Arr-:.::h:givmhhlﬁwqmuhhwidlniuhluwid‘ﬂlndm‘lwﬁrthninlluwing

questions

(i) Hmmm”:mmﬂmhmlﬂ%qmﬂ?

(ii) Mmﬂumldmmhﬂﬁqﬂnhu?
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) Numbar of Student= n;HcmPHd moye than
8a). cF_uaHnm = S49.=F
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month was recorded as :

28, 35, 32, 45, 62, 18, 15, 36, 52, 40, 34, 10,
15, 41, I8, 54, 26, 51, 63, 25, 43, 53, - 2% 52,
64, 75, 57, 24, 62, 36
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6. A traffic police van was recording the speeds of the cars while passing over a flyover. A challan of
T 600 was levied against the drivers who were driving al a speed more than 50 kmvhr. Following
is the record of the speeds (in kmvh) of 60 cars that passed through the flyover in a gap of 10
minules. Present the data in frequency table using class intervals 20 — 30, 30.- 40,... Also calculate
the amount of penalty collected from challans.

40, 50, 45, 70, 66, 35, 25, 60, 58, 75, BO, 56, 45, 46, 38, 54, §
34, 55, 69, 45, 46, 35, 26, BS, 52, 64, 57, 63, 36, 65, 48, 46, 30,

38, 28, 50, 55, 45, 43, 30, 65, 60, 40,
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7. Consumption of water (in litres) in 40 houses of an area is given

200, 180, 100, 240, 130, 160, 320, 250, 280, 8O, 120, 125, 8S, 190, 300, 140, 160, 220, 260,
300, 145, 170, 180, 190, 180, 240, 200, 260, 320, 160, 210, 240, 270, 190, 110, 120, 130, 135,

165, 185,
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8. Uiven below i-m&mwmumwmmmmw eamings. Observe

lhlﬂhmdmhfﬂllﬁn‘iulqsﬂhm:
(i Huwmmﬂtmpth-ﬂlnlliﬂpltﬂ

(ii) How many workers gel equal to or more than T 200 per day?
(iii) What is the size of class imervals?

(iv) Find the class marks of all the intervals?

(v) In whi-nhmm’upmpduﬂumhnmnmmmﬂwmmﬁ:?

Daily earnings (In ©) Number of workers
80 - 100 10
100 - 120 12
120 - 140 B
140 - 160 9
160 - 180 6
180 - 200 7
200 - 220 6
240 - 240 2
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9, First class interval of a datn is 0-8. Write next three class intervals of the ﬂll.l_;

Selurign:
Hm} ¢ Qars Sire = -0 = &
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10. Write the lower limit, upper limit and the class marks of the class intervals given below :

(i) 6-12 (i) 100 - 200 (i) 0 - 50
(iv) 120 - 180 (v) 70-175 (vi) 30.5 - 35.5
Lower limit | Upper lmit | Class mark |
(i) 6 12 9
[{11] 100 200 150
(iit) 0 50 25
{iv) 120 180 150
(v) T0 15 ns
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Fwﬂumﬂqdlumlﬁﬁmmm“mum
5.7,9 8 6 4,6, 12,15, 18, 17, 12, 10, 3, 13, 7, i, 17, 10, 3,
4, 6, 8,16, 18, 14, 6, 18, 9, 10, 15, 14, 3, 7,9, 17, 11, 4, I, 16.

Divide this dats into class

Selition: The '(-rf,cr.:rlj cLiat™ bt o ke Ao

intervals of size 3 and draw a histogram.
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